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N & o & AF & H Al A
2M: ER20ILAHA
Hu: g PHED 7
ool 1Y B2 BSXY (S &2)
L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
s201004 3,234,495 3,391,422 A 156,927
= 2,366
Al 37,716
- 3,194,413
gg #¥g8 ¥ 1,418,600 1,463,437 A 44,837
28 22 gsX¥ 518,563 475,514 43,049
TEANI Y2t 219,260 207,464 11,796
201 Let2d] 208,620 196,824 11,796
01 At 22l I 199,260 187,224 12,036
OH=st0te M 14,000,000& *123] 168,000
OC+80IY AMAE BIAY 2
100,000 »7H x 13| 700
OZHg 73 DARPN RS 20,000,000& 20,000
OaHAAX HME 2,640,000& »43] 10,560
02 =224l 9,360 9,600 A 240
O¢=8t0tg RELEE 600&+1,3008«128 9,360
301 LEtE A= 10,640 10,640 0
12 JIEtE4 3 10,640 10,640 0
O =3st0tg J10A 0% 7,800
o &E 5,000& =100 x5 «12& 3,000
o Al, &3, AH® S 20,0003 x1021 128 2,400
o JIEtE 1D MZX 20,0003 x10¥ 128 2,400
OaWHAANX JIDR d10F 2,000
o &HE 5,000 1001 x4 H «4 3] 800
o Al, &3, AHR S 20,0003 1021 43| 800
o JIEtE 1] MEX 10,000& »10H »43] 400
OZOUIIA WSl 10,0002 x7H x 123 840
ZEg N2As2 51,212 51,212 0
201 LB-2d | 46,212 46,212 0
01 At 2t 2l 24,240 24,240 0
OSSN M2R=ER
15,000 x 164 At 32« 128 8,640
OXNgX M2F=ER
15,0003 * 140 Ab+32 128 7,560
OF2X d2F=2 100,000 21 A *20H At 4,200
OdZAIEY A 8,000& x2H+x20L « 128 3,840
02 =224l 21,972 21,972 0
OF2 NLUAX M2ATY T2 MEZ
121,000 51 Atx 123 7,260
OFR LU M2ATY T2 MEZ
121,000 61 At x 123 8,712




2N E20/C04A
¥ gp PNED 78
GHe: 2 2L 2=51E (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@i HRE2
Od&sA ZTe0lgsA MHIA AIEE
500,000& x12& 6,000
203 SR F & 5,000 5,000 0
03 Al ZH =& 2= X H| 5,000 5,000 0
OREEE AHF=RNGR2FXH| 5,000,000& 5,000
BelHE 29 2,400 2,400 0
201 LBt Y| 2,400 2,400 0
01 AP 22| d| 2,400 2,400 0
OBzlEE 29 200,000& x12& 2,400
0ot EE2ES MY 73,897 61,948 11,949
201 et 59,297 60,748 A 1,451
01 AP 2t 2] H| 58,625 60,076 A 1,451
O2E8 =AY 5,000,000& 5,000
O2tol et 8 Xyl 200,000 =2CH 400
OFRE=EE AKAHANE ARZ 9,505
o+ 6,600 x280H 12& 2,218
0, I 6,600 *80H*23H A +6E 7,287
OFF E2HAE &X & KA4] 22,000
o7& EBHAIT MR &AX
3,000, 000& *3H 9,000
o7& EEHAT DAH AX
3,000,000 34 9,000
o7& EEHAE KA 22| 4,000,000& 4,000
O3 29 &8 M & 21,720,000 21,720
02 22244l 672 672 0
OCHYANZZ (AIMESE 2EH)
56,000 x12& 672
202 04| 1,200 1,200 0
01 2L HI 1,200 1,200 0
OAIEEH ol 10,000 x 12«10 x12& 1,200
405 KHoHFE S HI 13,400 0 13,400
01 XA 2B F S| 13,400 0 13,400
Ot et 2y 13,400,000 = 1Al 13,400
SHNZD Y 22 169,994 150,890 19,104
201 et d| 169,994 150,890 19,104
01 AFR 2t 2| bl 169,994 150,890 19,104
Oogdzn & 2= 120,000,000 120,000
OozsnsE g8 24| 49,994,000 49,994
REEE AU 1,800 1,600 200
303 ZAZ2 1,800 1,600 200




2N
X ZH -
L= B

el

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 ZAaZ 1,800 1,600 200
OdHEBL 242H(7,8) 1,800
RS 500,000& 10 & A 500
o RF 300,000 *3H £ A 900
o &d 200,000& 20 £ A 400
=M 28 28 882 541,777 987,923 N446, 146
EHOIXN &< 124,827 83,057 41,770
201 LEt2 Y| 89,827 83,057 6,770
02 332494l 89,827 83,057 6,770
Ol 88 SAx=E 66,0003 66
OFUE ASAHHA Ol 200,000& = 12& 2,400
OMS AHIA Oles 3,000,000& x12& 36,000
OANB B0t oIS A (SSL oIS A) 0K
440,000& 440
OO0I0lEl 9IS AHA Olss 330,000 330
OZHOIXN 2ZEYNH SANEx 29,772,000 29,772
OEZEHOIA 28 o= SANES
12,599,000& 12,599
O323 ZEHOXN SN2 6,300,000 6,300
OHE3PC 0l2= 1,920, 000& 1,920
405 XtabF S| 35,000 0 35,000
01 A&t =S F SHI 35,000 0 35,000
OYl gt &2l 35,000,000& 35,000
FADCH 8= 154,000 190,000 A 36,000
201 Bt A | 140,000 176,000 A 36,000
01 AP 22l Yl 140,000 116,000 24,000
OXEAHOE L JIENAM E22H S=2
30,000,000& 30,000
OS2 ANIBHO M L S=2
50,000,000& 50,000
Ocille ¥ nEds s22H
35,000,000& 35,000
OFQUA AHZD HE UL 5
5,000,000 5,000
ORYEEse=Esga M 20,000,000& 20,000
301 dEtE A= 14,000 14,000 0
12 JIEtE &2 14,000 14,000 0
OdamA HE(OMLU2AH =)
200,000& *703] 14,000
OIHYl g&= 29 69,750 501,962 N432,212
101 2121 | 25,280 22,542 2,738




2AMd: E20I0AHA

Ha: ¥Rl AFES 7
5

Sel DEWN 28 Y 52 (St &)
SA-3H-S(3AH) - MRAS - BES Ol &F o4 %Ei Hns2
VPIEEEP =P 25,280 22,542 2,738
OgsIlz2XEQd 25,280
0JlE3 80,0002 +21 2 2% 62 20,160
o FE4y 80,0008 *26 2 +2% 4,160
o gNRI LY 80,000 62 +2% 960
201 YEt2 Y| 30,070 31,570 A1,500
01 At 22l 5,600 6,100 A 500
OZCD L HICIQEIOIZ 71,2008 +1,0000H 1,200
OHICI23t02t | Xt 500,0002 *13] 500
OASLIQ HAIR(YAES) 50,0008 *13] 500
OLs= 29 A2 2 3,000,000 3,000
OFENT 7Y 20,0008 ¥20 400
02 ZZ 2l 24,470 25,470 A 1,000
OLUBHUEE= SN2+ 21,000,00084 21,000
OURIHIOIE SAHAE RN L
3,350,000 3,350
OHNOIZTV AIEE 10,0008 * 122 120
203 Y2 F T H| 2,000 2,000 0
03 Al ZT Q@ = 1| 2,000 2,000 0
OYMER AMEYREZH 2,000,000 2,000
301 Yt EAZ 2,400 8,400 6,000
12 JIEH2 &2 2,400 8,400 26,000
O+EAN +g 10,0002 %243 2,400
405 XH&HF S| 10,000 437,450 A 427,450
01 Mtarg 225 S 10,000 437,450 A 427,450
OBt HYHY 10,000,000 * 14} 10,000
NS 29 193,200 212,904 A 19,704
201 Yute S| 145,800 133,504 12,296
01 At 22l 80,000 72,400 7,600
OSNS E2=E= A 2,500,0002! *43] 10,000
OQEHUWHIL S %0ICIof 2 70,000,0008 70,000
02 ZZ 2l 47,160 41,160 6,000
OSNS 2% 2,430,0008! x 128 29,160
OPE SNS 2 1,300,000 * 12 15,600
O YBs ¥ ZAFT 088
200,000% * 122 2,400
03 A2 18,640 19,944 A 1,304
OJIXE & HEHZX 29 18,640
04+¥ S BENZ L Y|
15,0008 +700% 10,500
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L= B

el

£20/0014
g2 PHED 7
GE0M 28 23 =&

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o e 2
09=d L MEHZS MU
7,000& x700H 4,900
o M2UE AME 310,000& 43| 1,240
O HIHA U HEHA S A 2L
1,000, 000& *23l 2,000
301 et a s 47,400 A 32,000
09 AL HI B A S 3,200 A8,000
OJIXE & MEZHZEZ A LA Al
8,000 x200F 23| 3,200
12 JIE24 3 44,200 224,000
OSNS OIBIlE Al Al 4,200,000 4,200
Os=21 JIXE 1z 20,000 15021 «8 & 24,000
ONSMEHZX 1= 40,0003 5021 +82 16,000
QASES fs oS00 84 358,260 358,260
oisgs=s 29 358,260 358,260
201 Let2d] 257,020 257,020
01 At 22l 252,900 252,900
Oll=ds 2 o= M L 52 230,000
o A==XtAA, EEVJ) E HZE 80,000,000& 80,000
o AR FH= MAE 150,000, 000& 150,000
O=7olelZH & 2F 2 222 W
1,000,000 1,000
Oltsgs= s5(2HY ¢E3 W)
20,000,000& 20,000
OouccE=2d ZAH HMAH| 500,000& 500
OZaE HMEYH 48 s HIIAE =€
100, 000& »7H 23| 1,400
03 &Ar2 I 4,120 4,120
OF2elEH & HIAS 3,000,000& =13l 3,000
OFZus 2AE 280,000& *43] 1,120
301 et d =S 31,240 31,240
09 HALAHIE& S 240 240
O=FQelZH |3As IR Al
8,000& x30H 240
12JEEd= 31,000 31,000
OUCCB 2 & S Jzl(38) 20,000,000& 20,000
O=zocZH & MAEH X&
150,000& 60 9,000
OUEZ At 50,000& *403| 2,000
308 XX EHSOIA 70,000 70,000
10 3J/2S0HUHeZA&EEALS I 70,000 70,000
O oI=¢sE X 4,000,000& 58 20,000




SA: 22010104
MM dg PH=EE P
CHe: FOASES 98 0IS0ICI0 84 EER-ED
- _ _ RE!
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
| | ODICIof HAEY 50,000,000 *13] 50,000
s IS 2= 1,468,144 1,727,052 A 258,908
= 2,366
Al 37,716
-] 1,428,062
SHRELE 22 95,183 82,101 13,082
Al 37,716
-] 57,467
EXHFE 942 29 19,750 17,478 2,272
101 124 | 9,200 6,928 2,272
04222 RNEL S 9,200 6,928 2,272
OSEHANSEEA o124 80,0002 %1152 1% 9,200
201 Lty 10,550 10,550 0
01 AL 22l 10,200 10,200 0
OYgts Y| 7,500
o @aIlESY L2 42,0002 1008 4,200
OANYHMIEZEHZABIMN L2
33,0002 *1005 3,300
OF+) dMB(EAZAL 5)
100,000%! 12 1,200
OSHEAR 29| 1,500,000 1,500
02 2z 350 350 0
OMHMEAMEDIN L SHHULY SBLS
3,500 %1008 350
SHZA S (AFSHZEAL 75,433 64,623 10,810
Al 37,716
=] 37,717
101 Q124 H| 19,855 17,009 2,846
Al 9,927
=) 9,928
4 JI2R2ZNEE 4 19,855 17,009 2,846
OAHEAF O A H 19,855,000 19,855
Al 9,927
-] 9,928
201 Lt 55,578 47,614 7,964
Al 27,789
-] 27,789
01 AL 22l 55,578 47,614 7,964
O« 55,578
0 NI ZA ZAIY &g 55,578,0002 55,578
Al 27,789
-] 27,789
NgEEe 2 1,248,639 1,507,635 A 258,996
= 2,366




2AX: EB0ICIHA
M HEB3 J|BHA 2=
ool NP 7 (ol @)
DA HB B (EH) - MBAY - BAS o A o SSa H RS2
- 1,246,273
yEolTe &x 452,332 704,006 N251,674
201 et A H| 102,394 131,122 N28,728
01 AFR2 2t 2l Yl 102,394 131,122 N28,728
OYLE SM7Y 92,660,0002 92,660
OFM H2NH 7Y o FIPS2
450,000& 450
O&pa AF P 9,284,000 9,284
405 XtakF SHI 349,938 572,884 N 222,946
01 A&t = S F S HI 349,938 572,884 N 222,946
ONAEH P2 177,538
o PC 976,000& = 112CH 109,312
o BLIE (2721 Xl) 372,000& = 180K 6,696
o 2LIE(2221X) 232,000& «94CH 21,808
o LE=S 1,328,000& *29CH 38,512
o Ay 242,000 =504 1,210
ogtasl Al 2 uA 2,400,000 2,400
OSEHAAAE 2 170,000, 000& 170,000
HEFEANAEY 29 512,446 444,756 67,690
201 YEr2 Y| 474,475 408,785 65,690
02 =294l 474,475 408,785 65,690
O=238 ¥ FOHH, AIEA JEMES
15,911,000& = 12& 190,932
OUE<Z=Z ¥« #HFNMAMEH KRAE2H 186,751
o WERA KXNE M| 109,304,000 109,304
o HHMAXMH K44 77,447,000 77,447
O&FXNZMAIAE S X E 24| 6,949,000 6,949
OoaLliet d&HEH |RA2 4 16,883,000& 16,883
OSENHNEEX L F=HAI| RANE =
63,310,000 63,310
Oogasll RAE 3,877,000 3,877
ORHINMIAEX KA E=H| 5,773,000 5,773
202 04| 2,400 2,400 0
01 2LHOHI 2,400 2,400 0
OXAEH L #HYLRE S/WEH0UYI
10,000& x»2H*10 128 2,400
203 ¥R =&XH| 2,000 1,000 1,000
03 Al Z=XIH L= XY 2,000 1,000 1,000
O3B IRF&H| 2,000,000 2,000
308 XX S M SO0l & 33,571 32,571 1,000
10 B 2SHUSEAHAE ALY 33,571 32,571 1,000




2N ER20I00A
M HEG JIBHA 2=
@ NYHENEE 2 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=2Lltet S/W 2L X & <IE A
33,571,000& 33,571
SSIIEtAIAE 2 273,062 316,130 A 43,068
201 £B-2dH| 6,553 6,553 0
02 =224l 6,553 6,553 0
OHEFZY S/W A28l 5,893,000& 5,893
OslE =Skl 0l8R 660,000& 660
308 XX EHH SOl A 116,509 122,097 25,588
10 SO 2SUHUEE &S A 116,509 122,097 25,588
O33JIgt d&FEH X 2el 94,976,000 94,976
O3St Mol=SAIAE KX 2e
15,073,000& 15,073
OM2d3d MUlAMA3 %4l 6,460,000 6,460
403 XIS E X201 E 150,000 187,480 A 37,480
02 SO 2SO HEHAHE X 2 E AL H 150,000 187,480 A 37,480
OZ23JIEt = &4l wH 150,000, 000& 150,000
S8t S F &Yl WA 10,799 42,743 A 31,944
= 2,366
- 8,433
201 £B-2dH| 10,799 42,743 A 31,944
= 2,366
- 8,433
01 At 22l 10,799 42,743 A 31,944
O=8&0Iet & &Y WA & FEE0F 25HA
g Az 10,799,000& 10,799
= 2,366
- 8,433
ANg==el 235 54 124,322 137,316 A 12,994
23 otele 24 124,322 137,316 A 12,994
201 et 124,322 134,816 210,494
01 At 22l 119,322 132,816 A 13,494
OZE}A2AHSPC Ra=cl 24l
4,000,000& 4,000
OAME2 3YUPC B3 14,995,000& 14,995
OZEsu=E s EE23Md € 29
8,867,000 8,867
OFEStus ZA=Z 91,460,000& 91,460
03 &AL2 Gl 5,000 2,000 3,000
Oxg &AM 2 5,000,000& 5,000
HE2LAZH(ELE0ICI0A) 347,751 200,933 146,818
AHEIHI(EE0ICI0A) 316,355 169,537 146,818
lEA2IH NRAME(ELE0ICI0HA) 316,355 169,537 146,818




A E20I00 A
I YISYAH (SL0IC0)
el lE2HH(EE0I0AHA) (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
101 @l H] 307,302 165,232 142,070
02 Bt M E =+ 185,338 94,127 91,21
ZHAEH I LS 53,759
zs 3,503,650 x1E «12& 42,044
o Uz A 130,000& »1& « 122 1,560
o X222+ 11,4003 » 1H « 122 25 Al 2+ 3,420
o N&E=E 120,000& 12 %123 1,440
o AHSHIEX =& 467,080 1 *4 3 1,869
o It 4| 12,0533 12«63 Al 2 760
o S=HN2SY 168, 180& »1E «12& 2,019
o dAS 646, 1603 1 647
OANZEEH LM "O's 44,311
oJl=2s 3,052,250 x1& «12& 36,627
o Uz A 130,000& »1& «12& 1,560
o ZU22RE 10,2903 »1H «30Al 2t * 12 3,705
o It 4| 10,4903 12 63 Al 2+ 661
o Sx=AIsdE 146,500 18 123 1,758
OAIZFEENR &OIH "et's 39,293
oJlzs 2,689,330 x 18 »12& 32,272
o ¥z A 130,000& 18« 12& 1,560
o xZU2R+E 9,246 » 1 x30Al 2t 12 3,329
o It atd| 9,251 «1H »63Al 2+ 583
o S=AIsdE 129,080 » 18« 122 1,549
OLEYIIM "t"= 47,975
oJlEa 3,073,500 x 128 36,882
o =S4l 130,000& =123 1,560
o ZMU2RsE 9,246 »45A1 2tx 128 4,993
o HItE &l 74,0108 x12& 889
o duAS 3,651,000& 3,651
03 RIAHAZ 22> 121,964 71,105 50,859
OSRAZZIELZILEIIIAM, 1883) 80,704
oJl=s 2,159,740 x 128 25,917
0 NEE 20,0003 x1H 128 240
o Azt ==& 9,556& *1.5%30A1 2tx12E 5,161
o =4 130,000& ~12& 1,560
o &S Oty| 2,591,680& 2,592
o M= & AbHI 20,000& *22 40
o dXtrdErd 9,556 xBA| 2tx 132 994
0o Re2RsE 9,556 *8Al 2tx1.5%243) 2,753
od2=x¥ 2,159,740& 2,160
o 044l 10,000 x 10 122 1,200
o EA&=S 38,086,200 1 38,087




2AX: EB0ICIHA
Mz HMSAHH(EL0ICIHA)
S oHSAY(ELE0ICIHA) (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OBRAZ2ZXN B (EBI)=RE, 588) 41,260
o JlEa=2 1,899,220& x12& 22,791
o JIExY 20,000& *x1H x12& 240
o A2t 8,404 & x1.5x30A| 2tx12& 4,539
o =4l 130,000& = 12& 1,560
o @& S JtH| 2,279,060& 2,280
o M= AYI 20,000& *23] 40
o lxtmras% 8,404 3 xBAl 210 673
0o 5222 8,404 x1 .5%8A| 2t x63] 606
o 82 759,680& 760
o (4l 10,0002 x3 122 360
o El&Z 7,410,750& x1H 7,411
204 &R = F | 9,053 4,305 4,748
02 =2 & x4 7,403 4,305 3,098
OAZEHEH LIIH "L'E A3E X
218,750& x1H = 12& 2,625
OAZtHERH LIIH "CH'E A3 E X
135,620 x1H x12& 1,628
OAZtHEH LIIH "et's8 A3E X
122,500 * 1 x12& 1,470
OBt H "et's 232X
140,000& *1H x12& 1,680
03 S8YRZEHI 1,650 0 1,650
OANZEHERH LIIH "CH'2 e &S|
43,750 *1H x12& 525
OANZtHERH LIIH "et'3 e syl
43,750 1 x12& 525
OBt H "et'"s tolg syl
50,000& *1H x12& 600
JI2HH(E20ICIHA) 31,396 31,396 0]
Jl2dd NEMG(EL20I004A) 31,396 31,396 0
201 et A bl 17,236 17,236 0
01 AFR2 2t 2l dl 17,236 17,236 0
Oget+=gH| 54,5903 *14H x12& 9,172
==l 8,000& x 14 64| x12& 8,064
202 (4] 10,560 10,560 0
01 2L Y] 10,560 10,560 0
OUWE& I 10,0002 114 8L 128 10,560
203 ¥R =AY 3,600 3,600 0
04 ENSI IR =AY 3,600 3,600 0
ORNM2IIRF&Y| 300,000& x12& 3,600




= o
N & o & AF & H Al A
AN AL
M THo - HE 2 AL tE Y 2=
Sl T L THEONE (S &2)
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
et EZ A 5,427,750 5,846,332 A 418,582
= 21,783
Al 124,733
- 5,281,234
THaH - T 2 AMSIOHMQE = 523,846 257,599 266,247
= 2,850
Al 41,925
- 479,071
THGH 2 TH ol 319,609 114,104 205,505
= 2,850
Al 41,925
- 274,834
Hetongs & arghate) 154,696 71,356 83,340
Al 40,000
- 114,696
201 Let24d] 22,596 17,276 5,320
01 At 22l 22,596 17,276 5,320
O Eer==EH| 17,740
o HHWHEZFHSMH=E ML 7
16,7202 1102 1,840
o MREYE XX S ML R
33,000& 100 3,300
o otz HE MI el 36,000& 1002 3,600
o A 2A S22 MH
3,000,000& x33| 9,000
o=zg=¢ 1,400
o Nl IS LB ERARS 2H+E
70,0003 x10E +23| 1,400
O=&l 3,456
o MtiHl H&22 =4l
,000& »18H x4 x6 & 3,456
203 YR =&t 2,100 2,100 0
03 A Z=XH S =AY 2,100 2,100 0
OMaol & g FEFA 2,100,000& 2,100
02 OI=LTHOHE & 2 50,000 50,000 0
02 AR THOH A =R ESEL S 50,000 50,000 0
OPI2tel MUXE ¥ =2TEHE BAY
50,000, 000& 50,000
401 AIEHIZL 20 80,000 0 80,000
Al 40,000
- 40,000
01 A& HI 80,000 0 80,000
O&==ZXAE &X 80,000,000& 80,000
Al 40,000
T 40,000




SN AHETA
A THoH - MY L APBIOEY P
Sl Mol 2 Mol
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